Autoessay


Now the Antonov part in the world commerce fleet is about 11 percent, but it will grow till 20 percent for 5 - 7 years, providing the statistic and marketing researches.


According to the independent marketing researches we can say, that there is a need for about 120 - 130 aircrafts of 40 - 59 seat capacity class, that is Antonov - 140.


The projected plant will produce the Antonov - 140 wing  for  the purposes of the assembly plant. So, there are several customers through over the former USSR territory.


The Antonov aircraft including the wing has some advantages, such as:


the simplicity of construction;


new materials;


low cost in comparison with the foreign aircrafts of the same class.


So, for the native customers it would be cheaper to buy some construction units all over the CIS. But sometimes they want us to complete our production with the foreign equipment because of its high reliability.


To satisfy customer demands we are to organize  and use The Quality Control System including several levels of control: material, technological, documentation control and so on.


It is very difficult to imagine this structure functioning without The Automatized Management System. That is why I had tried to design the IBM usernet to manage all kinds of resources effectively.


The project accomplishment requires one investment only at amount of 3,60 billion grivnyas. The credit return is possible in a term of 3 - 4 years, when there are a lot of opportunities for a plant to reach and complete productive capacity level.


On the basic of Feasibility Study The Pay - Back Period is 8 years. To get The Break Even Point the plant has to produce 5 aircrafts per year at least.


But the instability of economics and politics prevents us to evaluate the precision of calculation. So, it is obligatory to take into consideration such risks as:


 high level of personal, corporative, state debts;


declining living standards;


we see the same picture in production;


reinforcement of state adjustment;


�
lossing products or the risk of something.


To reduce influence of risk we are to insure products, units or service (for example, for a traffic period).


In conclusion I want to emphasize the help of the computer program (I mean SoftWare): Word 6.0; Exel 5.0; Works 3.11. Without them it would be very difficult to realize a grate amount of economic calculations.





